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General Instructions :

Read the following instructions very carefully and strictly follow them :

CBSE Class 12 Economics Question Paper 2020

(i) This question paper comprises two sections — A and B. All questions are
compulsory.

(i1) Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

(iii) Question numbers 11 — 12 and 28 — 29 are short-answer questions
carrying 3 marks each. Answers to them should not normally exceed
60 — 80 words each.

(iv)  Question numbers 13 — 15 and 30 — 32 are also short-answer questions
carrying 4 marks each. Answers to them should not normally exceed
80 — 100 words each.

(v) Question numbers 16 — 17 and 33 — 34 are long answer questions carrying
6 marks each. Answers to them should not normally exceed
100 - 150 words each.

(vt) Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice. However, an internal choice has been provided
in 2 questions of one mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

(viti) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Macro Economics)

1. If the entire additional income of an economy is consumed, the value of
investment multiplier will be . (Choose the correct alternative) 1
(A) zero (0)

(B) not defined (=)
(C) one(1)
(D) ten (10)

T 3 PTO.
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©) feors 3udm axg
(D) AI-feHS Iudrw a%g
arorET
fr=ffgd d @ -a1 g3 ghat TKTT 3c91g (GNP) 3raxhifaeh i guiiar 3 2
(@&t farepea &1 === hifsm)
N Tifgss GNP {00
i EIT{TdﬁﬁGNPX
areafas GNP .
®) Tifgss GNP p
C i 100
© R R @ o
gerehifa 1 g § afEdq
(D) B S % 100
3. U s AdAIEN § HHY Ui & &1 Uhl & 1 faf@u |
4. G TN 1 Taie (Ifaffer) qem aemgshn g1 & |
(T 3 g e o < g i)
5. 3co@ it fos ffafiga e aca g a1 s@aw -
“qeTehifa 1 HF FH b T, FEF S BT THhe ARAT ITIG (CRR) I FH
&1 =@iey |7
6. T WSl W B T TN 99, TThH §9C ST HT Tk TR
2l (T I gra fera T < gfd <hifsio)
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2. A car purchased by a household is a . 1
(Choose the correct alternative)
(A) single use capital good
(B) single use consumer good
(C)  durable consumer good
(D)  semi-durable consumer good
OR
GNP deflator is represented by which of the following formulae ? 1
(Choose the correct alternative)
A) Nominal GNP <100
Real GNP
B) Refﬂ GNP <100
Nominal GNP
Real GNP
C 100
N — . W ™
D) Change in Rate of Inflation < 100
Real GNP
3. Name the two components of Aggregate Demand in a closed economy. 1
4, is the agent and adviser to the Government of India.
(Fill in the blank with correct answer) 1
o. State whether the following statement is true or false : 1
“To reduce inflation, the Central Bank should reduce Cash Reserve Ratio
(CRR).”
6. Government expenditure incurred on defence items is a type of
expenditure in the Government Budget. 1
(Fill in the blank with correct answer)

T 5 PTO.
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11.

12.

oot shifo for ffafaa e gca 2 a1 saa -
“veferg faedt fafma = goneft § s vooe w9 8 ot o = fafa s
%l”

‘foreeit & 9ed W YA Hded @A % (SHA®) wer § st fema
ST | (wd I g fw womm i gfd $ifs)

ML 3T (ToEa) Tifedat 18 @ 3ersw dfe |

W ifSg o6t wreafie sreferasen #, o1 & Ufst T 500 FUS T &g
T 600 U B Wdl B | INOMHA:, IUNTT A T 400 HUS U §@
T 500 HUS & a1 7 | 36 gifeyfa d €md 3udm g 1 9=

2T | (@t faspew o1 =97 Hifvw)
(A) 08

B) 04
(C) 10
(D) 06

“Oohet =] 391G (GDP) TRl gm1 it srefedawen & omifds shedmor 1w
o T8 7 |7 foU TIY oM 1 AT HRUN Afgd auedE 31l WA hi |

afg Twm mgfd (AS) i goT § T HiT (AD) Wifus &, @ 3§ uhfeafq #
THRISH a3 &1 Friyere 1 ==t Hifve |

HUqdT

afg ueh 31T 4
rfirs faw § afEda (AD) = T 1,000 Fs,
HWrd F=d Jgfa (MPS) = 0-2.
f=fafiad & qea 7 Hif
(@ &9 s (K)
(b) 39 = § i@ (AY)
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11.

12.

T 7 PTO.

State whether the following statement is true or false :
“Under a managed floating exchange rate system, the Government
directly controls the exchange rate.”

‘Charity from Abroad’ will be recorded on (eredit/debit) side of
the Balance of Payment accounts. (Fill in the blank with correct answer)

Give any two examples of non-tax revenue receipts.

Suppose in a hypothetical economy, the income rises from ¥ 500 crores to
¥ 600 crores. As a result, the consumption expenditure rises from
T 400 crores to ¥ 500 crores. Marginal propensity to consume in such a
case would be . (Choose the correct alternative)

(A) 08
(B) 04
(C) 1-0
(D) 06
“Gross Domestic Product (GDP) is not the best indicator of the economic

welfare of a country.” Defend or refute the given statement with valid

reasons.

Discuss the working of the adjustment mechanism if, Aggregate Demand
(AD) is greater than Aggregate Supply (AS).

OR
If in an economy :

Change in initial investment (AI) = ¥ 1,000 crores,

Marginal propensity to save (MPS) = 0-2.
FFind the value of the following :
(a) Investment multiplier (K)

(b) Change in final income (AY)
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13.

14.

15.

16.

a1 worelt <kt | fmior epwar 1 fgior s | wrg ok R yfien ® 2
AT ICTEW] R HEATST |

HUqAT

adig fiod s gro, arg e 8 wed % fae sy fee 9 ard fedl @
el b foear g fog=an Hifsm

“fiset weh ag | WG sfel (US $) § 0-75 U8 9fd Sfel (p/$) 1 38T <
% 8; I8 UREad STeT-Fe WehR o STl (Hafdehi 9o ATEdehi) % foTg
YEHUES A1 3T 1 Tehelt 7 | U MU wem 1 Siifeed fag hifaw |

“Ueh =% % WM S H TS B % HAEded % o1 TSR =TT & Bl
gehdt |7 feu U s w1 Fmela stean Wed Fifvu |

(a) “TF T-2FF NSFEEAT H W Hl AgA YAIE W THAEG (axiom) W
3raTia 2 o fopet oo 1 o g 1 31 At @ |7 Wi et |fed ovad
3L 1 FHA hifay |

(b)  STEA % qod a1 Hod gig H A Tee hIfT |

T

T i ardegewen & fefafiga sfwst & swam 4, fow mo ant & fou
AREATISh Hehel T 37UTE (GDP) 3T VAT I et I

ad 2015 — 16 2016 — 17

Hifgsh GDP & 8-4% 9%

GDP Aaehifas 140 125
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13.

14.

15.

16.

What role does credit multiplier play in determining the credit creation

capacity of the banking system ? Use a numerical illustration to explain.

OR

Elaborate any two instruments of credit control, exercised by the Reserve
Bank of India.

“US dollar has recorded a jump of 0-75 paise per dollar (p/$) in the last
one month; this situation might bring smiles and sorrows to different

types of traders (exporters and importers).” Justify the given statement.

“The Government Budget of a country cannot have fiscal deficit without

the existence of revenue deficit.” Defend or refute the given statement.

(a) “Circular flow of income in a two-sector economy is based on the
axiom that one’s expenditure is other’s income.” Support your

answer with valid reasons.
(b) Distinguish between ‘value of output’ and ‘value added’.

OR

Using the following data of an imaginary economy, calculate and compare

the Real Gross Domestic Product (GDP) for the given years :

Year 2015 -16 2016 — 17

Nominal GDP Rate 8:4% 9%

GDP deflator 140 125

CBSE Class 12 Economics Question Paper 2020
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17. feu g fam 9, KT 3fqter == vefiia wtar & 2 3@ qifeafa & @ &+ fou
fergl 21 TsreIia U 1 3g@ 9 ==t HifSu |

sheanfir ot % g :

y

4

=

HHT AN
\

45°

-

- AD{ (C+I+AD

AD(C+1D)

aEhIfg Aquet 1 =1 3o B 2 FaEhifa svaud i uffeafa & gaum & fag

foregl 3 TStopIvia 3Uml 1 3gE 9 == shifaT |
LCLERC)
(W srefeaawen &t fawma)

18. a9 T YR TR 3 6 & 14 99 & off= @eft s % fore foven foges
e e wT @ off | (wdt fashea =1 === hifsm)
(A) 2001
(B) 2009
(C) 2003
(D) 2007

arera

frefafiad § @ Si9-a1 dred wra § @ 89 ot fta s g 2

(A)
(B)
©)
(D)

ICMR
UGC
AICTE
RBI
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17. In the given figure, what does the gap ‘KT represent ? State and discuss
any two fiscal measures to correct the situation. 6
y
9
_- AD;(C+I+AD
e
g
g K AD(C+1D
% e - -
o -
&
@ T
i
< o
5 - > X
F Income
For Visually Impaired Candidates :
What is meant by deflationary gap ? State and discuss any two fiscal
measures to correct the situation of deflationary gap. 6
SECTION B
(Indian Economic Development)
18. In the year , the Indian Government made education free and
compulsory for all children between 6 — 14 years. 1
(Choose the correct alternative)
(A) 2001
(B) 2009
(C) 2003
(D) 2007
OR
Which one of the following organisations regulates the health sector in
India ? (Choose the correct alternative) 1
(A) ICMR
(B) UGC
(C) AICTE
(D) RBI

T 11 PTO.
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19. 3cad SHifsu f fFafafaa s ac 2 219en 3@
“yfy Fm o #1219 7 foRet =afora o T yf-gmor 6 =g =@ fgifa

caoIi S
20. HicH [H & 75 TEAIST o w1 o @19 0 ®h FHia7 I[1T4 o 7u faepedi
% T IR hl TgIH HINT :
HicaHd I FHiord 11
a. | fova =R WA (WTO) | (1) | YTa™ e sl THE &l 8§ H
& fofu 3TcgshIelia R YeH Hidl 2 |
b. | W fsfe s (RBI) (i) | U wrguefa saar gl e 2 |
c. | AU Hgl iy (IMF) | (iii) | G0 3fi foehrar o oo ==or o3 Y
gfaem yegm war 2 |
d. | TSI QAT 3R (iv) | YR T 1 & 8 |
faer@ s (IBRD)
frfofaa & @ @dt fawen 1 === $ifse -
(A)  a-(ii), b-(i), ¢-(iii), d-(iv)
B)  a-(ii), b-(iv), e-(ii), d-(i)
(C)  a-(ii), be(ii), e=(iv), d-(i)
(D)  a-(ii), b-(iv), e-(1), d-(iii)
21.  HIST 7 e &9 BiEe’ Hi yEeIa 9y T 6 off |
(T ferepe &1 =39 i)

(A) 1951
B) 1955
(C) 1958
(D) 1962

22. 9d H yreior faadior o fow sfid wwen s am fafay |

23. YA <l YW TG YEaHi AHrsT | Hifa 1 S W 3T &
Greror < foru femam T o | (wdt Im g fa wam 1 gfd hifaw)
12
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19. State whether the following statement is true or false :
“Land ceiling means fixing the minimum limit of land holding for an
individual.”
20. Identify and match the correct sequence of alternatives of organisations
given in Column I with their respective functions in Column 11 :
Column I Column I1
a. | WTO (i) | provides short-term loans to solve
the Balance of Payments problem.
b. | RBI (ii) |is a multilateral trade negotiating
body.
c. | IMF (ii1) | facilitates lending for reconstruction
and development.
d. | IBRD (iv) | is the Central Bank of India.
Choose the correct alternative from the following :
(A)  a-(ii), b-(1), c-(iii), d-(iv)
(B)  a-(ii), b-(iv), e-(iii), d-(i)
(C)  a-(il), b(iii), e-(iv), d-(i)
(D) a-(ii), b-(iv), e-(1), d-(iii)
21. Mao initiated the ‘Great Leap Forward’ in the year .
(Choose the correct alternative)
(A) 1951
(B) 1955
(C) 1958
(D) 1962
22. Name the apex institution for rural financing in India.
23. policy was implemented in the first seven five-year plans of
India, to protect domestic industries.
(Fill in the blank with the correct answer)

T 13 PTO.
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24. o1l & SATETIS A 1 Teh I¢8 & | 1
(@& faepeq =1 === hifo)
(A) TS Ahel
(B) @Il
(C) N H FIHAU
(D) HE M F I
25. 3Ioo@ shifae fo famafafad wom gca 2 319en 3w 1
“qrferram <t e §, WRA H T @1 § i @ are @ w1 a1t
%l”
26. fordt th gERA wEo 1 A fofEe | 1
27. faafafea § @ wa-ar Sfas @dl =1 = @ 777 2 2 1
(@& foepeq =1 === Hhifo)
(A) TE AT

B) ew w rendes gfqwma
(C)  3aTa <hi 3tferes GyTeATd
(D) 3= 990 qH

28. “9na H fawefl (ufke) &= 1 w3 yg@ FHTaA & G w1 gear 7 17 e

MU 9 6 919 denl dfed == Hifsu | 3
SPC)

“1964 — 66 = e A i Fawifed # ] FE § IRG SHwd W g |7

feu U oM % TH ¥ A ah WEqd HINT | 3

29. “YNd GR 4 7 & H Fgdl g3 @A % HEI MTNL a9 BSNL % e
<1 YO h1 8 |7 WA ThR ¢RI 331U U sheHl w1 ey fag hifs |

VL]
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24, is an example of a commercial source of energy. 1
(Choose the correct alternative)

(A)  Firewood
(B) Coal
(C)  Agricultural waste
(D)  Dried dung cakes

25. State whether the following statement is true or false : 1
“Proportion of people living below poverty line is more in India as
compared to Pakistan.”

26. Name any one Maharatna company. 1

27. Which of the following is not an advantage of organic farming ? 1

(Choose the correct alternative)

(A) Cheap inputs
(B)  Attractive returns on investment
(C) Greater possibilities for import
(D) High nutritional value

28. “Power sector in India has major challenges to face.” Discuss the given
statement with valid reasons. 3

OR

“India has failed to implement the recommendations of Education
Commission of 1964 — 66.” Give valid arguments in support of the given
statement. 3

29. “Recently the Government of India has decided to merge MTNL and
BSNL on account of rising losses.” Justify the steps taken by the
Government of India. 3

T 15 PTO.
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30. H&v ¥ g9l Sifrg o, fopa wehr weeamTa guml (W geri) 3 wrdE HfY @l
e T Heeayol fieer s

HgdT

“facefll g1 ver f sud 9 ewen-fdi % Q@ W % Wy uwd #
A gfdey @me U o |7 ¥ deRl dfgd T T e w1 ofifuew fag
HIT |

31. TFAFAl I QE-HEAT W UG hl SAGETIR AT i fohegl ol g foswarst w
feoqoft Shifsre |

32. g HWUN % T, WRA IR =4 & G MU AfFei H gon  favemor Hifse

SEEAT i arfie gfg '
&l (2015) (ufd &9 g&9)
g 1-2% 929
=4 0-5% 941

Hiq : fova faewm d@das, 2015

33. fr=fafea #i sfenfya $Hifg .
(A)  HTSROT shT 90T Ha
(B) ifesh FuE @]
(C)  umofta forepra
(D) TR hT STt amar
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30. Discuss briefly, how institutional reforms (land reforms) have played a

significant role in transforming Indian agriculture. 4

OR

“Import restrictions were imposed in India with the dual objective to save
foreign exchange reserves and to be self-sufficient.” Justify the given

statement with valid arguments. 4

31. Comment upon any two salient features of occupational structure of India

on the eve of Independence. 4

32. Compare and analyse the given data of India and China with valid

reasons : 4
Sex ratio
Country | 21 o @018) | thousand
males)
India 1-2% 929
China 0-5% 941

Source : World Development Indicators, 2015

33. Define the following : 6
(a) Carrying capacity of environment
(b) Bio-composting
(c) Sustainable Development

(d)  Absorptive capacity of the environment

T 17 PTO.
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34. (a) YR H ¥HIA & FAHgEHIRE | feogeft Fifu |

(b)  Fffeh-Seen 31U <t uftam fafee | 4+2
reran

WA § TaAal § 37 q HEifad T T I I FRHHT F GROmE o

AT Fierr HifSe | 6
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34. (a) Comment upon the informalisation of labour force in India.

(b) Define the worker-population ratio. 442
OR

Critically examine the results of Poverty Alleviation Programmes

implemented in India since independence. 6

581211 19
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